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1) 84 - (12×2)+124 :-D- 2=84 - 241-6-2
= 60+6 - 2

= 66-2

= 64 # 4)
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2) 44 - (8.ie/-f3xt:- 2) = 44-2-112 :-c)
= 42-5

= 36 # 3)
-

3) AD b = 2at3b - 5
8015133) = 8D ( (2×511-(3×3) - 5)

= 8D 1901-9-5)
= 8074

= (2×87-113×14) - 5

= 16-142 - 5

= 53 # 7)
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4) 4135=4+5--9

XD5) D1 = 9131=9 - 1=8

8D { 140511373=8138 = 8×8=54 # 4)

#

5) B - A = ( 2423-12425-120 ) - (2422+23+2425)
= 22-123+24+25 -125 - 21 - 22-23-24-25
= 26-21

= 64-2

= 62 # 2)
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6) 18 nor . = 21-5-1101-1

Ann'7TaonAT68w 351-(57157+110114) -111713 )

= 351-25-1401-3

= 103 #3)
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7) MIMI ITO 123,456-1234,567 t 345,612+455,7231-567,234-1512,345

rynuoonedoeineunoeurnoinn 1,2 , . . . ,6

i. WDU2nVOsbDVTnn6im'Daunt 80 It 21-3+41-5 -16=21
WANN VANLUE UTA FO 700,0001-10,000+1,000 -1700+701-7=777,717

W'WHO MIMI = 21×117,111

MGMT 80 777,777 t 222,2221-333,3331-444,444-1555,555

= 11 -12+3+4+5) ( 771,717 )

= 15×777,111

Winning = 21×177,777
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= it = I = 1¥ # 2)
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8) (1112×3)-112114115741346×97414118111214151110117511111345) t ( 2×6×70 ) -113×6×75) -114×12×20) t (5×15×25)

=
C1x2x3)t2Clx2X3)t3CK2X3l4llX2X3)t5C1X2x#
(1×3×5) -1 217×3×5 ) t 317×3×5) t 411×3×5 ) t 517×3×5)

= C1t2t3t4-5)l7X2x
( 7-12+3 -14-15711×3×51

= 7×2×3143×5

= I # 2)
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9) ( 2+5+8-1 - - - t 1997) - 17+41-7-1 - - - -179961

= 12 - 11+15-471-18 -7) t - - - t 11997-1996)
= It It It - - - -11

Uniontown: 2=21-10×3 )

1997=21-(665×3)
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3 Is 47 G (47-3)+1 = 45 # 4)
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11 ) Imf 7-121-3-1 -
' ' t n = Iz Intl )

It 3+5-17-1 - . . -189 = (1-12-131-4-15T -
- - t 89 ) - ( 2-14-16-18 -1 - . - +88 )

= 8211891-7 ) - 2171-2+3-1 - - - t 44)

45

= 891ft - 2- ( ¥144141)
= (89×45) - 14411451

= 45189-44)

= 45145)

= 2,025 # 11
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12) Mn 7+2+3-1 - i - th -

- Zin -171

48+551-54 -172T - - i

-12561-254-1272-1280=8( 6+7-18+9 t . . . -135 )

= 8 C 7-121-3-1 - - - -135 - 17+21-3 -14+57 )

= 8 [ If (351-7) - 15 ]
78

= 8 ( 3513T - 15)
= 8 ( 35×78 - 15 )

= 8 ( 630 - 75 )

= 8 ( 675 )

= 4,920 # 77
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13) savants aah at 9 MY orioswavonoinn a rig

bounteous I 90 MY www.TNODUTna 90×2 = 180 MY

inv@TNUntnN G 378-90-9=219 MY M%w-WinVTnn 219×3=557 MY

52W 91-780+657 = 846 MY # 4)
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141 bomb :nwwbuhoTw 360 :- 148 = 35¥90: 9¥ Oooh

grismggefiwns uhsrtw 18009M AYN 780 ÷ 9¥ = 18-02×397=0 = 74
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Anniston80 = 48aI = off = 9.6 nw .
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16 ) NEWMorandiwayworn = 120×250 ML

= 30,000 mL

= 30,000 ÷ 7,000 L

= 30 L

JINWON TIN = 28+17-17=40 other

bow w4Ew = 28 ntrw

oentoo9owEw = 2,8*7×30 = 21 L # 2)
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b row thrown

'

1) 2.a row thrown! 3b SON wound
,
2bt3a= thrown

2) a situationism! 3b Now murti
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ooo ① = 302

② = 29 8

North ① -② = 302 - 298 =3 # 2)

⑧

19) 8+91-8=25 → 898
,
889

,
988

9 t 9 t 7 = 25 → 997 , 979 ,
799

ooo 609mW # 6

20) ⑦ 0=0 ② 10 = (1×4)+0 = 4 ③ LO = 12×41+0 = 8

I = I 11 = 11×4) -11 = 5 LI = 12×41+1 = 9

i. =z / k -

- melter / I :3! : '
, :} Is # nU =3 IU = 11×41+3=7
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27) wow i nots → 2 QU = 2
'

Wu 2 nots → 4 TV = 22

WU 3 nots → 8 TV = 23
:
I

Wu 10 nots → 210=1,024 # 2)
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22) 872MW @ NOD = wound

ngneionndoiiooohsornoonon
ooo G@ nwo@Foh = 2+4+5-1 - - - t 720

= 211+2+3-1 . . . -160 )

07h 7-12+3-1 - - - th = hzfhtl )
OETA 2171-21-3-1 - - - t 60 ) = 2×512×(601-7)

= 60×67

= 3,550 # 2)
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- q
•
htt = 2¥
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ht 4 = 24

ht 't n = 24-4=20

U-114
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fine (Vtf4l×9 = 35
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U-174 = 3-5×-5
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U -174 = 24

U = 24-14=10

ooo n- U = 20 - 10=70 # 2)
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24) menu'oorTwu'og

000000
2 e r

o: Maryna'ssoooo 'm
.
eetiswgnnaunmn Forehand 30 s . m8omGuhs 30 :- 2=15 NET # 2)
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25) btw'wU72 26 btw'm Use UH 26 4=6 into 2 → r ya
Ew 6 gon IT maintains = 6×6=36 brevis Wo

MegabusIn = 6×12=72 MY WO

MINBARI = 6×2=12 ME WO

Thug = 6×14=84 MT Wo

o: motorman o Ya # 3)
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26) innuendo 1 US win x

infra s Wn urn 2x

4 Wn uhh 2X÷2=X

bingo n 76 UT within'T v%Twn 4 Won = X

48 UT resting TnTwn 4×3=12 Won

= 371

ooo linen as riuwnrnh Inform 3 us # 4)
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debt 10X ty = 65 -①

2071 ty = 80 -②

② - ① i 20×-19-110×+91=80-56
20 Xt y - tox -y = 14

10X = 74 -30

bmw ③ 9W ① ; let y
= or

y -_ 55-14=52 #2)
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28) 9 Wind

n'70 A ; 2 thrown = 2×3=6 UM 61-7=13 UM

7 HA n'OYU = 7×1=7 um ]
*

Nhu B j 3 Wriston = 3×2=6 UM 6-17.5 = 73.5 UM *

O Windon'oYU = 5×1.25=7.5 win
)

n'nu C ; 9 wind = 9×7.5 = 13.5 UM *

n'no A grin's,n # 1)
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29 ) ① 81€ ② ON MIMI = WANT amulet into

7/-13 law 3 ooo 13=(7×24)+4 = 172

a rave / A -- 813+3
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